Slope-intercept form worksheet

Find the slope-intercept form of each of the following lines. Then graph them, and find the = and y intercepts, if they exist.
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. 8xr + (—10)xr =3y — 2

—6x — (—10)y = —1

. —lz+ (—5)y =3

—2y + 2y = —2& — 5
6z + 5z = 2y — (—2)
—Ty —(—3)x = —4
—2y+2r =3

. 2x + (—4)y = —10

. 5y — (—10)x = —1
.10y — (—2)z =9

. —Txr —by=—3

. 2z + (—1)a = 8y — (—3)
. —dxr +9x = 3y + (—9)

. —10y — (—10)y = 2x + (—1)
. 10z — 5y =8

.6y + (—4)y =3z —9

. —Ty — (—5)x = —10

. —8y+ (—8)y — —6x — (—7)
. —1ly —3x =4

. By + 10y = —3x — (—3)
3y — (—8)x =2

. —6x — by = —5

. B —2r =4y — 6

. =5z + (—1)x = 5y — (—2)
Ty (D= -1

. —Bx+ 6y = —6

. —1ly — (—9)xz = —3

. 6xr — (—8)x = 8y + 10

. =10z + (—9)xz = —3y + (—9)
. —Ty+ 10z =4

. —1ly + 10y = —1x — (—5)
.8z + (—T)o = 4y — (—6)

. —6xr 44y =5

Ay — (—=T)y = —10xz — (—10)
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9y — 9y = —8x — 1

6y +(—2)y = —9x+5
—5x — (—1)y = —5
—8y + 8z — —8

2y — 10y = —2x + (—3)
3y +6y = —2xr+9
—dz + Ty — —0

dy + Oy = 4z + (—4)

10y — 5y = —10x — (—1)
—4x + 2z = —3y + (—8)
6xr + 2y = —3

3y + 6y =2z +9

—10x — (—2)y = —4

8x + (—2)x = —6y — (—10)
—Tx +3y =9
—Ty+(—2)x =7

8x — 2o = —Ty + (—3)
—2r — (—y =5

—9y — (—3)y — 6z + (—2)
T (—A) = —8y — (—3)
—8y + 5 =6

dr — 7o = —10y — (—4)

3y + 8x = —2

—Tx +4dx =Ty — 4

10y By = Tz — (—2)
Ty + (—5)a=—3

—br — 9 =4y — 4

2y —9xr =8

—dy+ (—3)y =3x+9
—10x — (—8)z = —4dy + 6
2y — (—1)z =6

10y + by = —8x — (—7)
—dy + (—3)y=—Tx+9
—8y — (—6)z = —4
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4y + 3z = —3

—b5x —dy =4

Ty — (—8ly =Tz — (—2)
9y — 6y = —9z + (—6)
8y + Tx =2

—bz + (—4)y=—9
—6x + 9z =Ty — 6

3z + 6y = 3

10z — (—5)y =5

—Ty — (—T)x =4

9y — bz = —10

—3x — 8By =5

—7x —(—10)y =8
—10y — 8z = 10

4z — (—10)y = 3
Ty —Tox = —4
Ty + 3z = —4

—2x — (—10)y = 10

—dy — (—10)y — —6z — (—1)
2z + 10y = —7

—10x — (—8)x = —by — 2

Tx —3r =Ty —5
—8x — 2x = —6y — 6

—2y — by =3z + (—4)

4y — 9z = 10

—8x —dx = 2y — 2

Tz — (—6)z = —2y + 4
—1x + 5x = By — (—5)
—5y — (—10)y = —5z +5
4z — 10y = —10

—7y — (—T)x =29
—6y — 2z = 8
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